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e Please check that this question paper contains 19 printed pages.

e (Code number given on the right hand side of the question paper should be
written on the title page of the answer-book by the candidate.

e Please check that this question paper contains 25 questions.

e Please write down the Serial Number of the question before
attempting it.

e 15 minutes time has been allotted to read this question paper. The question
paper will be distributed at 10.15 a.m. From 10.15 a.m. to 10.30 a.m., the
students will read the question paper only and will not write any answer on
the answer-book during this period.
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(i) I8 FA-9F T 97§ [FYwm 8- &, @ KT/

(i) 9T % gl ST @ forg sifAard &

(iii)  FHTITT 1 I YT @ R T H G I Uk YT 5T HATE |
(iv) 141 397 & T 97T & I TP & T W ferEw |

General Instructions :

(i) This question paper contains three parts A, B and C.

(it)  Part A is compulsory for all candidates.

(iti) Candidates can attempt only one part of the remaining parts B and C.

(iv)  All parts of the questions should be attempted at one place.

"I <h
(TS T qUT T o e AR )
PART A
(Accounting for Partnership Firms and Companies)

1. U G12CR o Jo% & 999 Uk BH o Ser@rdl § Udl fohal 3 /el o 19 Sd1sy
o8 gamESH i STravIehdar gidt @ | 1

List any two items that need adjustments in books of accounts of a firm
at the time of admission of a partner.

2. ‘ITCU-IIWEH H FT AW 7 ? 1
What is meant by ‘under subscription’ ?

3. ‘Fyuud (d1g) &1 7Y dEy | 1
Give the meaning of a ‘Bond’.

4.  EIGRI < T ISl @Il 9T ITEATE IS @ral H HiE Th X Fqrsy | 1

State any one difference between fixed capital accounts and fluctuating
capital accounts of partners.

5. I 34T S AT aTead gl & 2 1
What is meant by sacrificing ratio ?

ease Visit www ncer hel p.com For 2AIl Vi deos Lectures of all Subjects



Vis E&C%@ﬁ* g.,}:om For Al NCERT Sol uti ons, 1
E Sanpl papers, est1on, papers, Notes For Class 6 to 12

y Authorised Capital of a Company ?

7.  UH 3w & yggE hINT 9 S Tk ATt BH % FHIE o I STe
TehdT 2 | 1

Identify a situation, under which the Court may order for dissolution of a
partnership firm.

8. Uiy U fEwiy @rgiem § S s 3 : 2 % U H Av-giH 1 fawre
8 | 38 Y I AW F 1/6 9T > ToIw B § FrEiek & &9 § vaw fe | iy
3 SRR ®9 9 I8 TR < fob forelt off ad § 31y 1 @y | fEwEm 30,000 @
%0 & B | ®H 1 31 HIE, 2013 I HHT B 9Tl 9Y 1 g oy
T 90,000 o7 | ATH-gTH faf=se @ o Hifse | 3

Pranshu and Himanshu are partners sharing profits and losses in the
ratio of 3 : 2 respectively. They admit Anshu as partner with 1/6 share in
the profits of the firm. Pranshu personally guaranteed that Anshu’s
share of profit would not be less than ¥ 30,000 in any year. The net profit
of the firm for the year ending 315t March, 2013 was ¥ 90,000. Prepare
Profit and Loss Appropriation Account.

9. %1 ffiRs 4 T 100 I & T 7,00,000 & 12% UG, S 5% FiRm T
i fopan, fSem sem 209% ffEm w® 91 o | o o e &
AT USHTHET TfafsedT shifoy | 3

Fena Ltd. issued ¥ 7,00,000 12% debentures of ¥ 100 each at a premium

of 5% redeemable at a premium of 20%. Pass necessary journal entries at
the time of issue of debentures.

10. 3R fAfide 9 T 100 J=% % 2000, 8% UG 1 WMeH, S TH-T T
forifir fopu 7T A, T 100 TAH % AHAT M Dl 25% AT W fifa e,
giEdd g T |

IR feAfiee <t gedent § SATawes Tstmmen gfafseat Hifo | 3

R Ltd. redeemed 2000, 8% debentures of T 100 each which were issued
at par by converting them into equity shares of ¥ 100 each issued at a

premium of 25%.

Pass necessary journal entries in the books of R Ltd.
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i < <0 S 3TRTY UV foRaT dAT 3TUR N T 1/4 WTT UH & 9T H
AT Y TH o g § qReAmT foham | T qen uA o AU Ay faueE ua
=1 TUET i |
(@) 3, o A1 @ WPEH & S ATl Bl HEN: 4/10, 3/10 TAT 3/10 s U
T fawford otd 8 | @ 7 3Tkt Ugvr TR e SEes oW i Y TTEied
TSR o o1 | o1 91 9 o AU TTUTd i AT HINT | 2+2=4

(a) M, N and O are partners sharing profits in the ratio of 6 : 5 : 4
respectively. O retired surrendering 1/4th of his share in favour of
M and remaining in favour of N. Calculate the new profit sharing
ratio of M and N.

(b) A, B and C are partners sharing profits in the ratio of 4/10, 3/10
and 3/10 respectively. C retired and his share was taken over by
the remaining partners equally. Calculate gaining ratio of A and B.

12. ¥ fAfee &1 9SRA T 20,00,000 1 3Mepd ST & 83T ST T 10 TS *
guar En § fawss off | SRl 3 1,00,000 AR % R % fw @A
M= 6T | 96,000 3T % TAT el I8 §C | |4} Arem1 Ty |7 & T8
AT ITH B TS hael 2,000 3TN ol DS S W T 2 T A7 <hl Afqw Jremn
Tfer 78 faeft | 57 @t ST B Sead L T T e 9g § T 18,000 W Ul
Yed YH: fffia =t feam m |
(i) o AfafRm, 1956 St @ROf VI, 9 1% TR & fafies & feufa

foaror 3 “siw G’ 1 PR SRR @i ST 2
(i) 3I9Yh & faQ @rdi & Aeg ot TR HifT | 4
B Ltd. was registered with an authorised capital of ¥ 20,00,000 divided
into equity shares of ¥ 10 each. The company invited applications for the
issue of 1,00,000 shares. Applications for 96,000 shares were received. All
calls were made and were duly received except the final call of ¥ 2 per

share on 2,000 shares. All these shares were forfeited and later on
re-issued at ¥ 18,000 as fully paid.

1) Show how ‘Share Capital’ will appear in the Balance Sheet of
B Ltd. as per Schedule VI, Part I of the Companies Act, 1956.

(i1)  Also prepare ‘Notes to Accounts’ for the same.
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feparm < 2 |w%ﬁama®aﬁﬁﬁm%%aqﬁﬁam:

9 — T 3,50,000 : i — T 6,00,000

Y — T 4,50,000 AT THEK — T 1,00,000
W el & fore we fafiee &1 qwakl @ stawas Uemmen yfafseat
HIfre | 4

X Ltd. purchased a running business from G Ltd. for a sum of
< 18,00,000 payable by issue of equity shares of ¥ 100 each at a premium

of ¥ 20 per share. The assets and liabilities consisted of the following :
Plant — ¥ 3,50,000 : Land — ¥ 6,00,000
Stock — T 4,50,000 and Creditors — ¥ 1,00,000

Pass necessary journal entries in the books of X Ltd. for the above
transactions.

14. T wd e s v 7 Agier off qen 3 2% U H oy 1 fawree et
off | 3Th! ISt ShAST: T 80,000 AT T 50,000 off | 1 SHaRI, 2013 I I8H
Hrar ot Tt i H 1/5 W o I ¢ GreieR o 9 W BH § A9 R |
T o St o ®9 H T 60,000 TS | BH I TN o Hod I TUET g
TAT HHT o o= T AR UM Fafseat Hifsr | 4
Hina and Neerja were partners in a firm sharing profits in the ratio of
3 : 2. Their capitals were ¥ 80,000 and ¥ 50,000 respectively. They
admitted Seema in the firm on lst January, 2013 as a new partner for 1/5
share in the future profits. Seema brought ¥ 60,000 as her capital.

Calculate the value of goodwill of the firm and record necessary journal
entries on Seema’s admission.

15. <, U@ a1 UH HEGR ¥ | 32 Iodl- WRA & T glad! oAfears! & §
SR Iy foham | 3eht 1R erfeameht ¥ge™ & 3Icu™ | & S&es fow o
7=t Torem qem Tareey hi sFaEe T WEd 9 |
31 HT=, 2013 i @, TA G TF 1 IS HET: T 3,00,000, T 2,00,000 AT
T 1,00,000 off | HTEIGR Hol@ % ITTHR ISl W 6% dTMHeh ohl G § ST TG
M@ | 99 % GUF % 4 T 20,000, TA 7 T 15,000 9AT TH 7 T 5,000 H
e fohaT | 9% @1 T @ Tk 31 HTEl, 2013 1 THE g oW H Sl W =AW
T8 fo T oor | 31 W, 2013 Sl GHIH BU 9W 1 WH 1 IANd AW
Z 1,80,000 T |

ot sl fevuoft w1 Toseqan gud §U STEvIs HHESH Jfafse H | Iww
o H IR TRy 5T gl 31 et shi agem ot i | 6

ease Visit www ncerhel p.com ForsAl |l Videos Lectures of all Spbyects




Visit A t hel p. For . Al | .NCERT | uti ,
Sarm) I?e Plg%rngf PELSHTIARD G, RRTINESS I PBE FAPCGemates (o 10

E ¥
ﬁ‘lcj’% orth-East” India. They were interested in the

development of the tribal community by providing good education and
health.

On 315t March, 2013, K, L and M had capitals of ¥ 3,00,000,
< 2,00,000 and ¥ 1,00,000 respectively. The partnership deed provided
that interest on capital will be allowed @ 6% p.a. Drawings for the year
were : K - ¥ 20,000, L — ¥ 15,000 and M — ¥ 5,000. It was found that
the interest on capital for the year ended 315t March, 2013 was not
allowed. The profit earned by the firm for the year ended 315t March,
2013 was ¥ 1,80,000.

Showing your working notes clearly, pass necessary adjustment entry.
Also identify any two values highlighted in the above question.

TH, W a1 Ted AR & S 14} bl SA: 2 : 3 : 1% 319G § fawria
H I | AIER Tol@ o ITIER FoRet off WRieR i 9og B W 38k T &
ISt @ i I Tl S & § e siwere™ i % fow gm 6 g
ST |

ST % RoT 30 faawar, 2013 @i Uad 6 §g &1 T8 | 31 94, 2013 %l TH,

16.

& aur e o1 fefd-foemor femgam o .
fearfa-feramor 31.3.2013
R et
-3 T

) 1,00,000 | TS 14,000
i 2.,00,000 | S 2,96,000
EET 3,00,000 | Ty 80,000
WIeR 3,60,000 | ¢ER 3,00,000
Hu=r flaqid [ 20,000 | faf=m 50,000
gfary swon & fore 3 10,000 | 9w 2,50,000
9,90,000 9,90,000
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(1) edld ool HeARhd fUsal fH auf % 3f¥d @Y % & A % SR
BAU, S 2010-2011 § T 45,000, 2011-2012 H T 90,000 qeAT
2012-2013 T T 1,35,000 ¥ |

(i) T % T T UL < AT o 7 I AT fUsel I a9 & 3iEa o
o YT 9T I ST |

(iii) 9| T T 25,000 HH T YeATeh1 FHT A1 Thd HI T 8,000 A(H T
AT g3 |

(iv) oIerl W Hfery ol & U 5% Y < § e fopan |

(v) wHart afaqfd o gd &1 FHE T 5,000 TR TR |

(o o fIsaTgeht i Toqd fohT S aTaT ITR1 S @TAT IR <hiforg dem T,
TEW q1 Ve THTS hl 511 oo TENT i1 FTed & 38! dgar Hf Hifsu | 6

Ram, Rahim and Robert were partners sharing profits in 2 : 3 : 1 ratio
respectively. The partnership deed provided that in case of death of a
partner the deceased partner’s share of capital will be donated for the
construction of a hospital in the tribal area.

Due to ill health Robert died on 30" September, 2013. The Balance Sheet
of Ram, Rahim and Robert on 315 March, 2013 was as follows :

Balance Sheet as at 31.3.2013

Liabilities Amount | o sets S

Capitals :
Ram 1,00,000 | Cash 14,000
Rahim 2,00,000 | Bank 2,96,000
Robert 3,00,000 | Stock 80,000
Creditor 3,60,000 | Debtors 3,00,000
Workmen’s Compensation Fund 20,000 | Investments 50,000
Provision for doubtful debts 10,000 | Land 2,50,000
9,90,000 9,90,000
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1) Goodwﬂl is to be valued at two years’ purchase of average
profits of last three completed years i.e. 2010-2011 — ¥ 45,000;
2011-2012 — ¥ 90,000 and 2012-2013 — ¥ 1,35,000.

(i1))  Robert’s share of profits till the date of his death will be calculated
the basis of average profits of last three years.

(i1i) Land was undervalued by ¥ 25,000 and stock overvalued by
T 8,000.

(iv)  Provision for doubtful debts is to be made at 5% of Debtors.

(v)  Claim of workmen compensation estimated at ¥ 5,000.

Prepare Robert’s capital account to be presented to his executors. Also
identify a value that Ram, Rahim and Robert wanted to communicate to
the society.

17. 9Edt fafds 4 T 10 3% & 2,00,000 THAT A o fFHT 7g AEH

smmfera fop | afsm fFergem < of

AP W — T 3 Ui W

AT W — T 5 Ifd 31

T U fH I W — T 2 Ui 3
3,00,000 37T % TeTY TG JTH FY AT T HTAGeh! ol STUTITH &9 H 701
T AT K e e | e W uw SAfafcs g @ SAeeed it §
gurntard o o= mam | &f, S8 3,000 A9 1 ATEeA foRam TR o, Yo w4
rfeqm FreAT TR 1 PaH i B TG @1 | 38eh 379 Aed L fofw MU |
Fed TR BU SFRM H | 2,500 3T I T 8 Wi 3% <l g & 1 W q: Frifea
L Tz |
ITYTh TG o @I oh ToTC WiTad! foffiee shi gedehl § 3TTE9eh U=l
yfafsear i | 8

AT

(%) TH HA 4 T 20 T & 200 7AW ! ofeq foban, o w T 15 gfa
3T [AL T A qAT T 10 i T 1 YA A6 F1 Fohl AT | FTerehi o
Fed TR BT |t 31 B T 10 Wi ST % YIAW W T 15 Ui 37 Y
A Y S I g FiEa T | T o gl H STRI h Wsd
T qAT gA: T S A UsHm=n gfafsear i |
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SN un.amqmmtml?ﬂgudldmﬁgmm | 39 3T W
T 6 Wi 3T 1 PIAH FT T A IR TH F G AT | GG o
3l T 7 UM T o PTAH W YO Yed &9 § A: it e fe
T | O Al gl W OSTEN I ed i ol g A & i
T fafseat i |

Bhagwati Ltd. invited applications for issuing 2,00,000 equity shares of
T 10 each. The amounts were payable as follows :

On application — ¥ 3 per share
On allotment — ¥ 5 per share
On first and final call — ¥ 2 per share

Applications were received for 3,00,000 shares and pro-rata allotment
was made to all the applicants. Money overpaid on application was
adjusted towards allotment money. B, who was allotted 3,000 shares,
failed to pay the first and final call money. His shares were forfeited. Out
of the forfeited shares, 2,500 shares were reissued as fully paid up @ ¥ 8
per share.

Pass necessary journal entries to record the above transactions in the
books of Bhagwati Ltd.

OR

(a) A company forfeited 200 shares of ¥ 20 each, ¥ 15 per share called
up on which ¥ 10 per share had been paid. Directors reissued all
the forfeited shares to B as ¥ 15 per share paid up for a payment
of ¥ 10 each. Give journal entries in the books of the company for
forfeiture and reissue of shares.

(b) A Ltd. forfeited 100 equity shares of the face value of ¥ 10 each,
for the non-payment of first call of ¥ 2 per share. ¥ 6 per share
had already been called and paid. These shares were subsequently
reissued as fully paid at the rate of ¥ 7 per share. Give journal
entries in the books of the company for forfeiture and reissue of
shares.
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Toeg aUT TR @1 feurfa-faamor 31 W, 2013

T T
Thg 2,500
TER 17,500 | IR 10,000
(—) gdd kU
IRSE 350 9,650
fafram seasga Ffer | 4,000 | =hy 12,500
gt LRE] 17,500
&g 20,000 | Ye~H 10,350
AR 15,000 | fafa=mm 10,000
EEdeay 10,000 | @fd 4,000
66,500 66,500

& = [ 3Et W Y 9iEier & ®9 H YAy eI R

(i) S ATHI % 4/159 9T T ARBRT A0 |
(i) S 799 AW I YSH W FI H T 15,000 ThE AT |

(i) Tred 9r aui & f|d 9 & 2%@&?&%3?@@@65111@1’%
B | St 319e fEem <hl wnfa JeRe @ |

(iv) 31 #TH, 2010, 2011, 2012 TAT 2013 H! THTH FC a6 6 HH & ¥
AT T 10,000; T 7,000; T 8,500; 7AT T 7,500 & |

(v) g & Jedied T 10,000 o7 AT GG HON o AT AESH
T 500 deh ST AT |

(vi) &I 1 eI T 20,000 W TR W |

YT TTdT, FEIGRT  YSi @Td ad1 95 %H 1 fefd-faa dam i | 8

YT

ease Visit www ncerhel p.com ForjiAl | Vi deos Lectures of all Subjects



NCERT S Iutlon

6t012

Visit er t.he om Eor. Al'l
WME Sam 8 TR B TS O] S B s 08 £ P
ramtad a1 01- 042013@3—%?:?@1%13&331@@?—1@%&1 | 39
feq w1 fesrfa-foan f=fafaa o .
Tearfa-faraor 01-04-2013
. Tfst . Tfsr
aTd gt
3 T
FUR 68,000 | G 80,000
M 50,000 | BTeR 45,000
G| 27,000 | et a9 25,000
IGEIALS 1,20,000 | Th= 30,000
TeR 71,000
Uhe 14,000
2.65,000 2.65,000

freret =1 fe aivorm g

(1)

(ii)
(iii)
(iv)

(v)

(vi)

®H 1 IS @IAT, FEERI o Yol @I ad s @Tal dIR hHiT |
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e | T 1,000 9 99 7T |

T 20,000 % WER Ger T i TE et qen A9 SHERl B g PIaH
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TESATRTT = T 5,000 9 |

Fia o1 foshd T 40,000 H g3 |

I F HieX 99 & T 30,000 H o |
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3 31> March, 2013, their Balance Sheet was as follows :

a

Balance Sheet of W and R as on 315t March, 2013

A t A t
Liabilities T2 Assets e
Cash 2,500
Creditors 17,500 | Debtors 10,000
(=) Provision for
bad debts 350 9,650
Investment
Fluctuation Fund 4,000 | Stock 12,500
Capitals : Plant 17,500
W 20,000 | Patents 10,350
R 15,000 | Investments 10,000
Bank loan 10,000 | Goodwill 4,000
66,500 66,500

B was admitted as a new partner on the following conditions :
(1) B will get 4/15™ share of profits.
(ii)) B had to bring ¥ 15,000 as his capital.

(iii) B would pay cash for his share of goodwill based on 2% years

purchase of average profit of last 4 years.

(iv)  The profits of the firm for the years ending 315t March, 2010, 2011,
2012 and 2013 were ¥ 10,000; T 7,000; T 8,500; and ¥ 7,500
respectively.

(v)  Stock was valued at ¥ 10,000 and provision for doubtful debts was
raised up to ¥ 500.

(vi) Plant was revalued at ¥ 20,000.

Prepare Revaluation Account, Partners’ Capital A/cs and the
Balance Sheet of the new firm.

OR
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rauuv v . u . « respectively. They decided to dissolve the firm with effect

from 01-04-2013. On that date the Balance Sheet of the firm was as

follows :
Balance Sheet as at 01.04.2013

Liabilities Amount | s sets Amount

Capitals :
Kumar 68,000 | Plant 80,000
Shyam 50,000 | Furniture 45,000
Ratan 27,000 | Motor van 25,000
Creditors 1,20,000 | Stock 30,000
Debtors 71,000
Cash 14,000
2,65,000 2,65,000

The dissolution resulted in the following :

1) Plant of ¥ 40,000 was taken over by Kumar at an agreed value of
% 45,000 and remaining plant realised I 50,000.

(i1)  Furniture realised ¥ 40,000.
(i1i)) Motor van was taken over by Shyam for ¥ 30,000.
(iv)  Debtors realised ¥ 1,000 less.

(v)  Creditors for ¥ 20,000 were untraceable and the remaining
creditors were paid in full.

(vi)  Realisation expenses amounted to ¥ 5,000.

Prepare the Realisation Account, Capital Accounts of Partners and Bank

Account of the firm.
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PART B

(Financial Statements Analysis)

19. fo<i faewon o fagamuor < fergi @1 SueRtunt o 9™ <qrsT | 1

Name any two tools of analysis of financial statements.

20. Uhg JaTg fIator dIR i a9F U foxfia et grr fohu 7o @ramsr rae <
TopH SRR ST TI(ITaITY o ST=TIA afiehd fhdl ST @ 2 1

Dividend paid by a financial company is classified under which type of

activity, while preparing cash flow statement ?

21. Uhg JaTE foemur dOR 1 & Tt Tk 3w &1 3g@ il | 1

State any one objective of preparing Cash Flow Statement.

22. HrOAl fufEM, 1956 i GiENfyd FROM VI WA [ STgER eat o feufd

foato # ffafaa A ford g Sfives o SF=aia q@ilg ST : 3
SIS
(i)  YSf SeH w=

(iii) 31T\ ITH =

(iv) TH g W™
(v) AT ITHT
(vi) =rq fafm=m
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sheet of a company as per rev1sed Schedule VI Part I of
the Companies Act, 1956 :

1) Trade Marks

(i)  Capital Redemption Reserves
(iii) Income received in advance
(iv)  Stores and Spares

(v)  Office Equipments

(vi)  Current Investments

23. f=fafeaa @ womn i . 2+9=4

(31) ITeY AU, dT
(9) i dSit oATad AU |

ahr ()
(i)  YETeE ¥ AT 1,50,000
(i) P gHEFRE 1,00,000
(i) AT o BT 60,000
(iv) =g 20,000
(v)  AEA-giErdEt 50,000
From the following calculate :
(a) Current Ratio; and
(b)  Working Capital Turnover Ratio.

Amount (<)
1) Revenue from operations 1,50,000
(11))  Total Assets 1,00,000
(iii)  Shareholder’s Funds 60,000
(iv)  Non-current Liabilities 20,000
(v) Non-current Assets 50,000
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YL detdiceh ot iH-gTT foraor aam Hife 4
[EELY e g&a 31.03.2013 | 31.03.2012
T § AT 30,00,000 | 20,00,000
P 21,00,000 | 12,00,000
I I 3,60,000 | 4,00,000
ol 50% 50%

On the basis of the following information extracted from the Statement of
Profit and Loss for the year ended 315t March, 2012 and 2013, prepare a

Comparative Statement of Profit and Loss :

Particulars Note No. |31.03.2013 | 31.03.2012
Revenue from operations 30,00,000 | 20,00,000
Expenses 21,00,000 | 12,00,000
Other Income 3,60,000 4,00,000
Tax Rate 50% 50%
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31.3.2013 31.3.2012
[EELY a‘v@n T T
I — THAT 9T AT :
1. | sroreamd fAfer:
(1) T gt 6,00,000 5,00,000
CIRERREICIRER! 1 4,00,000 2,00,000
2. %nﬁ\ﬁ'd?lTﬁ{' :
ST <IdT 2.80,000 1,80,000
HA 12,80,000 8,80,000
II - gfeeraf~=t
1. | ereret ufErafceT
(21) womt gt
T3 Td wefied 5,00,000 3,00,000
2. ﬂTFLWﬁ'HTQﬁ?ﬁ' s
(37) Theu 1,00,000 1,50,000
(F) ARG T 6,00,000 4,00,000
(|) g qdT UhS oo 80,000 30,000
A 12,80,000 8,80,000
Wl o Aie|
e T 1
Akl 31.3.2013 | 31.3.2012
§ 3
g U i
s (- Fe 5 9) 4,00,000 | 2,00,000
STaRE T :

1)
&= |
(i1)

ease Visit www ncer hel p. com For1Al |

Vi deos Lectures of all

T U TR W, TR g5 qed T 50,000 o1, T 60,000 § &

Y o G FRT W T 30,000 T YeIs™ JGH Rt T |

Sphr.ect s



Vi sit www ncert h | p. com For All_NCERT Sol utions,
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Note | 31.3.2013 31.3.2012
Particulars No. F F
I - Equity and Liabilities :
1. | Shareholder’s Fund :
(a) Share Capital 6,00,000 5,00,000
(b) Reserves and Surplus 1 4,00,000 2,00,000
2. | Current Liabilities :
Trade Payables 2,80,000 1,80,000
Total 12,80,000 8,80,000
II - Assets :
1. | Non-Current Assets :
(a) Fixed Assets :
Plant and Machinery 5,00,000 3,00,000
2. | Current Assets :
(a) Inventories 1,00,000 1,50,000
(b) Trade Receivables 6,00,000 4,00,000
(c) Cash and Cash Equivalents 80,000 30,000
Total 12,80,000 8,80,000
Notes to Accounts
Note No. 1
Particulars 31.3.2013 | 31.3.2012
N <
gs:;zze(%ZEicselﬁp Sl’:.lastement of Profit & Loss) 4,00,000 2,00,000

Additional Information :

(1) An old machinery having book value of ¥ 50,000 was sold for

¥ 60,000.

(i1)  Depreciation provided on Machinery during the year was ¥ 30,000.
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PART C
(Computerised Accounting)

19. wagrns (faasyel) see™ #0172 1
What is relational database ?

20. 3T QTR JuITedt o Tk w1 7 ? 1
What are the components of Computerised Accounting System ?

21. GiATRl § Uk @Td i AEled 5 ° 7 b gRI T GTAT 1T & 2 1

What is represented by the 5th o 7th digits allotted to an account in
codification ?

22,  AfR{oT i@ JuIell & fohedl g1 Tequn ol THzTsy | 3
Explain any two features of Computerised Accounting System.

23. S % 334l o &9 H WG, J53, fdeed a1 T<al i FHST | 4
Explain Modules, Pages, Reports, and Queries as Database objects.

24. ‘ST I (3Mfee)’ aur el dice’ | w1 A B 2 4

What is meant by ‘Data Audit’ and ‘Data Vault’ ?

25. (31) Tesfic & 39 foxig w (BeH) *1 AW FqRC A1 FHRT S Uk
fafrm it ormad, feor W qen fR &9 @t o SMYR T wrel Jod
S TUMET HLT B |
(@) Ffafed gor @ Uasd W It I L hl TUET Bq G Il O
Hifu
A I T 25,000 T 20% T G H TAT I HW 25% HI X W | 4+2=6

(a) Name and explain the financial function of spreadsheet which
calculates the future value of an investment based on periodic,
constant payment and constant interest rate.

(b)  Calculate the formula from the following information on Excel for
computing Tax Deductible :
Basic Salary up to ¥ 25,000 at 20% and above it at 25%.
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